

*Mathematics*

## On the Convergence of the Crank-Nicolson Semidiscrete Scheme for an Evolutionary Equation in the Banach Space

Jemal Rogava\* and David Gulua\*\*

\*I. Vekua Institute of Applied Mathematics, I. Javakhishvili Tbilisi State University,

\*\*Department of Computational Mathematics, Georgian Technical University, Tbilisi

(Presented by Academy Member Elizbar Nadaraya)

**ABSTRACT.** The Crank-Nicolson semidiscrete scheme is considered for an evolutionary equation with a linear unbounded closed operator  $A$  in the Banach space. It is proved that if (a) the spectrum of the operator  $A$  is contained in a symmetrical open sector with an angle opening less than  $\pi$ , lying in the right-hand half-plane; (b) for any point  $z$  ( $z \neq 0$ ) not belonging to this sector, the resolvent norm is not greater than  $c/|z|$ ; (c) the second derivative of a solution satisfies the Lifshitz condition. Then the error of an approximate solution is not greater than  $c(\varepsilon_0 \ln \tau^{-1} + \varepsilon_1 + \tau^2)$ , where  $\tau$  is a grid step, while  $\varepsilon_0$  and  $\varepsilon_1$  are the disturbance of the initial vector and the right-hand part, respectively. © 2013 Bull. Georg. Natl. Acad. Sci.

**Key words:** Crank-Nicolson semidiscrete scheme, evolutionary equation, error estimate.

As is known, various initial boundary value problems for nonstationary equations with partial derivatives can be reduced to the Cauchy problem for an evolutionary equation in the Banach space. One of the methods of solution of these problems is the semidiscretization method. This method has an advantage that the system obtained as a result of its application can be solved, for instance, by the finite difference method and the subsequent discretization of derivatives is carried out with respect to spatial variables. Other methods, including analytical ones, can also be used.

Questions connected with the construction and investigation of approximate solution algorithms of evolutionary problems are considered for example in the well-known books by S. K. Godunov and V. S. Ryaben'kii [1], G. I. Marchuk [2], R. Richtmayer and K. Morton [3], A. A. Samarski [4], N. N. Ianenko [5]. We also refer to the works by H. A. Alibekov and P. E. Sobolevski [6], A. E. Polichuk and P. E. Sobolevski [7], M. Crouzeix [8], M. Crouzeix and P.-A. Raviart [9] and M.-N. Le Rouxe [10] dedicated to the approximate

solution of the Cauchy problem for an abstract parabolic equation. The results obtained in these papers embrace a sufficiently wide class of evolutionary problems.

In the present paper, our investigation relies essentially on the methods developed in the above-mentioned works and in the monograph [11] by the first author.

We consider here the semidiscrete Crank-Nicolson scheme for an evolutionary equation with a linear unbounded closed operator  $A$  in the Banach space. It is proved that if (a) the spectrum of the operator  $A$  is contained in a symmetrical open sector with an angle opening less than  $\pi$ , lying in the right-hand half-plane, (b) for any point  $z$  ( $z \neq 0$ ) not belonging to this sector, the resolvent norm is not greater than  $c/|z|$ , (c) the second derivative of a solution satisfies the Lifshitz condition, then the error of an approximate solution is not greater than  $c(\varepsilon_0 \ln \tau^{-1} + \varepsilon_1 + \tau^2)$ , where  $\tau$  is a grid step, while  $\varepsilon_0$  and  $\varepsilon_1$  are the disturbance of the initial vector and the right-hand part, respectively.

It should be noted that in Serdyukova's paper [12], the stability of linear difference schemes with constant coefficients, is investigated in a concrete Banach space, in particular in the space  $C$ . That paper was one of the pioneer works on the study of difference schemes in the Banach space. We also want to refer to Sobolevski's paper [13], where a logarithmic estimate is given (without proving it) for the resolvent operators of the Crank-Nicolson scheme. It is pointed out that this estimate is proved by the Cauchy-Riesz formula if the initial operator is strongly positive. We further refer to [14], where an explicit estimate of the error of the Crank-Nicolson scheme is obtained in the Hilbert space under the assumption that the initial operator is self-adjoint and positively defined. In the same paper, under the same assumptions for the operator, a lemma is proved, by means of which the obtained results are easily extended to the Banach space.

## 1. Statement of the Problem and the Formulation of the Basic Theorem

In the Banach space  $X$ , we consider the evolutionary problem

$$\frac{du(t)}{dt} + Au(t) = f(t), \quad t \in ]0, T], \quad (1.1)$$

$$u(0) = u_0, \quad (1.2)$$

where  $(-A)$  is the generating operator of a strongly continuous semigroup  $\exp(-tA)$ ,  $t \geq 0$ ;  $f(t)$  is a continuously differentiable abstract function with values from  $X$ ;  $u_0$  is a given vector from  $X$ ,  $u(t)$  is the sought function.

Let us introduce  $[0, T]$  the grid  $t_k = k\tau$ ,  $k = 0, 1, \dots, n$ , with step  $\tau = T/n$ . For problem (1.1)-(1.2) we consider the Crank-Nicolson scheme

$$\frac{u_k - u_{k-1}}{\tau} + A \frac{u_k + u_{k-1}}{2} = f_{k-\frac{1}{2}}, \quad k = 1, \dots, n, \quad (1.3)$$

where  $f_{k-\frac{1}{2}} \approx f\left(t_{k-\frac{1}{2}}\right)$ .

The following theorem is true.

**Theorem 1.1.** *Assume that the following conditions are fulfilled:*

(a) *The solution  $u(t)$  of problem (1.1)-(1.2) is twice continuously differentiable and  $u''(t)$  satisfies the Lifshitz condition;*

(b)  $A$  is a linear, densely defined closed operator in the Banach space  $X$ , whose spectrum is wholly contained in the sector

$$S = \left\{ z : |\arg(z)| < \varphi_0, 0 < \varphi_0 < \frac{\pi}{2} \right\}$$

and the condition

$$\|(zI - A)^{-1}\| \leq \frac{c_0}{|z|}, \quad c_0 = \text{const} > 0$$

is fulfilled for any  $z$ , ( $z \neq 0$ ) not belonging to  $S$ . Then the estimate

$$\|u(t_k) - u_k\| \leq c \left( \ln \frac{et_k}{\tau} \|z_0\| + t_k \max_{1 \leq i \leq k} \left\| f \left( t_{i-\frac{1}{2}} \right) - f_{i-\frac{1}{2}} \right\| + \tau^2 t_k \right), \quad k = 1, \dots, n,$$

is valid, where  $z_0 = u_0 - u(t_0)$ ,  $c = \text{const} > 0$ .

To prove this theorem, we need some auxiliary statements, which, in our opinion, are of independent interest.

## 2. Auxiliary Statements

**Lemma 2.1.** *Let us assume that the operator  $A$  satisfies the conditions of Theorem 1.1. Then the following estimate is valid*

$$\left\| \frac{\tau}{2} A \left( I - \frac{\tau}{2} A \right)^k \left( I + \frac{\tau}{2} A \right)^{-(k+1)} (I + \tau A)^{-j} \right\| \leq \frac{c_1(\lambda)}{k+j}, \tag{2.1}$$

where  $k$  and  $j$  are natural numbers,  $\tau > 0$ ,

$$\begin{aligned} c_1(\lambda) &= \left( \frac{1}{\lambda} + \frac{1}{\sqrt{\lambda}} + \frac{1}{\lambda \lambda_1} \right) \frac{c_0}{2\pi}, \\ \lambda_1 &= \min \left( 16\lambda^2, \left( \ln \frac{9}{4\lambda^3} \right)^{-1} \right), \\ \lambda &= \cos(\varphi), \quad \varphi_0 \leq \varphi < \frac{\pi}{2}. \end{aligned}$$

**Proof.** Applying the Danford-Taylor integral (see e.g. [15]), we have

$$\begin{aligned} & \frac{\tau}{2} A \left( I - \frac{\tau}{2} A \right)^k \left( I + \frac{\tau}{2} A \right)^{-(k+1)} (I + \tau A)^{-j} \\ &= \frac{1}{2\pi i} \int_{\Gamma} \frac{z(1-z)^k}{(1+z)^{k+1}(1+2z)^j} \left( zI - \frac{\tau}{2} A \right)^{-1} dz, \end{aligned} \tag{2.2}$$

where  $\Gamma$  is the boundary of a sector  $|\arg(z)| < \varphi$  (the integral is taken along the positive direction).

By virtue of Theorem 1.1 we have

$$\left\| \left( zI - \frac{\tau}{2}A \right)^{-1} \right\| = \frac{2}{\tau} \left\| \left( \frac{2z}{\tau}I - A \right)^{-1} \right\| \leq \frac{c_0}{|z|}. \quad (2.3)$$

Passing in (2.2) to the norm and taking (2.3) into account, we obtain

$$\begin{aligned} & \left\| \frac{\tau}{2}A \left( I - \frac{\tau}{2}A \right)^k \left( I + \frac{\tau}{2}A \right)^{-(k+1)} (I + \tau A)^{-j} \right\| \\ & \leq \frac{c_0}{2\pi} \int_0^{+\infty} \frac{|1-z|^k}{|1+z|^{k+1}|1+2z|^j} d\rho, \end{aligned} \quad (2.4)$$

where  $z = \rho(\cos \varphi + i \sin \varphi)$ .

Let us estimate the improper integral contained in the right-hand part of (2.4). It is obvious that

$$\begin{aligned} & \int_0^{+\infty} \frac{|1-z|^k}{|1+z|^{k+1}|1+2z|^j} d\rho \\ & = \int_0^{+\infty} \frac{(1-2\lambda\rho + \rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho + \rho^2)^{\frac{k+1}{2}} (1+4\lambda\rho + 4\rho^2)^{\frac{j}{2}}} d\rho. \end{aligned} \quad (2.5)$$

We represent integral (2.5) as a sum of three integrals

$$\int_0^{+\infty} \frac{(1-2\lambda\rho + \rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho + \rho^2)^{\frac{k+1}{2}} (1+4\lambda\rho + 4\rho^2)^{\frac{j}{2}}} d\rho = \int_0^{2\lambda} + \int_{2\lambda}^{k+1} + \int_{k+1}^{+\infty}. \quad (2.6)$$

The validity of the following inequalities is obvious:

$$\begin{aligned} 1+2\lambda\rho + \rho^2 & \geq (1+\lambda\rho)^2, \\ 1+4\lambda\rho + 4\rho^2 & \geq (1+\lambda\rho)^2, \\ 1-2\lambda\rho + \rho^2 & \leq 1 \quad \text{if } 0 \leq \rho \leq 2\lambda. \end{aligned}$$

Taking these inequalities into account, for the first integral from the right-hand part of equality (2.6) we obtain the estimate

$$\begin{aligned} & \int_0^{2\lambda} \frac{(1-2\lambda\rho + \rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho + \rho^2)^{\frac{k+1}{2}} (1+4\lambda\rho + 4\rho^2)^{\frac{j}{2}}} d\rho \\ & \leq \int_0^{2\lambda} \frac{1}{(1+\lambda\rho)^{k+j+1}} d\rho \leq \int_0^{+\infty} \frac{d\rho}{(1+\lambda\rho)^{k+j+1}} \\ & = - \frac{1}{\lambda(k+j)(1+\lambda\rho)^{k+j}} \Big|_0^{+\infty} = \frac{1}{\lambda(k+j)}. \end{aligned} \quad (2.7)$$

Let us estimate the second integral in the right-hand part of equality (2.6).

For any  $j \geq 1$  the following inequality is valid

$$\int_{2\lambda}^{k+1} \frac{(1-2\lambda\rho + \rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho + \rho^2)^{\frac{k+1}{2}} (1+4\lambda\rho + 4\rho^2)^{\frac{j}{2}}} d\rho \leq \int_{2\lambda}^{k+1} \frac{(1-2\lambda\rho + \rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho + \rho^2)^{\frac{k+2}{2}}} d\rho = \int_{2\lambda}^{k+1} \frac{\chi(\rho)(1-\chi(\rho))^m}{2\lambda\rho(1+\chi(\rho))^{m+1}} d\rho, \tag{2.8}$$

where

$$m = \frac{k}{2}, \quad \chi(\rho) = \frac{2\lambda\rho}{1+\rho^2}.$$

Since  $0 \leq \chi(\rho) < 1$  for  $2\lambda \leq \rho < +\infty$ , we have the estimate

$$\chi(\rho)(1-\chi(\rho))^m \leq \frac{1}{m+1} \left(1 - \frac{1}{m+1}\right)^m \leq \frac{1}{2(m+1)}. \tag{2.9}$$

The inequality

$$\begin{aligned} \rho(1+\chi(\rho))^{m+1} &\geq \rho(1+(m+1)\chi(\rho)) = \rho + 2\lambda(m+1) \frac{\rho^2}{1+\rho^2} \\ &\geq \rho + \lambda(k+2) \frac{4\lambda^2}{1+4\lambda^2} = \rho + \lambda\lambda_0(k+2), \quad \lambda_0 = \frac{4\lambda^2}{1+4\lambda^2} \end{aligned} \tag{2.10}$$

is also valid by virtue of the Bernoulli inequality.

Taking (2.9) and (2.10) into account, from (2.8) we obtain

$$\begin{aligned} &\int_{2\lambda}^{k+1} \frac{(1-2\lambda\rho + \rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho + \rho^2)^{\frac{k+1}{2}} (1+4\lambda\rho + 4\rho^2)^{\frac{j}{2}}} d\rho \\ &\leq \frac{1}{\lambda(k+2)} \int_{2\lambda}^{k+1} \frac{d\rho}{\rho + \lambda\lambda_0(k+2)} = \frac{1}{\lambda(k+2)} \ln \frac{k+1 + \lambda\lambda_0(k+2)}{2\lambda + \lambda\lambda_0(k+2)} \\ &\leq \frac{1}{\lambda(k+2)} \ln \frac{1+\lambda\lambda_0}{\lambda\lambda_0} = \frac{1}{\lambda(k+2)} \ln \left( \frac{1}{4\lambda^3} + \frac{1}{\lambda} + 1 \right) \leq \frac{1}{\lambda(k+2)} \ln \frac{9}{4\lambda^3}. \end{aligned} \tag{2.11}$$

Let us show that the inequality

$$\int_{2\lambda}^{k+1} \frac{(1-2\lambda\rho + \rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho + \rho^2)^{\frac{k+1}{2}} (1+4\lambda\rho + 4\rho^2)^{\frac{j}{2}}} d\rho \leq \frac{1}{16\lambda^3(k+j+2)} \tag{2.12}$$

is fulfilled for any  $j > 2$ .

By virtue of the Bernoulli inequality, the inequality

$$(1+4\lambda\rho+4\rho^2)^{\frac{j-1}{2}} \geq (1+4\rho^2)^{\frac{j-1}{2}} \geq 1+2(j-1)\rho^2$$

holds for  $j > 2$ .

Taking this inequality into account, we obtain

$$\begin{aligned} & \int_{2\lambda}^{k+1} \frac{(1-2\lambda\rho+\rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho+\rho^2)^{\frac{k+1}{2}} (1+4\lambda\rho+4\rho^2)^{\frac{j}{2}}} d\rho \\ & \leq \int_{2\lambda}^{k+1} \frac{(1-2\lambda\rho+\rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho+\rho^2)^{\frac{k+2}{2}} (1+2(j-1)\rho^2)} d\rho \\ & = \frac{1}{2\lambda} \int_{2\lambda}^{k+1} \frac{\chi(\rho)(1-\chi(\rho))^m}{\rho(1+\chi(\rho))^{m+1} (1+2(j-1)\rho^2)} d\rho \\ & \leq \frac{1}{\lambda(k+2)} \int_{2\lambda}^{k+1} \frac{d\rho}{\rho(1+2(j-1)\rho^2)} \leq \frac{1}{\lambda(k+2)} \int_{2\lambda}^{+\infty} \frac{d\rho}{\rho(1+2(j-1)\rho^2)} \\ & = \frac{1}{\lambda(k+2)} \int_{2\lambda}^{+\infty} \left( \frac{1}{\rho} - \frac{2(j-1)\rho}{1+2(j-1)\rho^2} \right) d\rho \\ & = \frac{1}{\lambda(k+2)} \ln \frac{\rho}{\sqrt{1+2(j-1)\rho^2}} \Big|_{2\lambda}^{+\infty} = \frac{1}{\lambda(k+2)} \ln \frac{\sqrt{1+8\lambda^2(j-1)}}{2\lambda\sqrt{2(j-1)}} \\ & = \frac{1}{2\lambda(k+2)} \ln \left( 1 + \frac{1}{8\lambda^2(j-1)} \right) \leq \frac{1}{16\lambda^3(k+2)(j-1)} \\ & = \frac{1}{16\lambda^3(k(j-1)+2j-2)} \leq \frac{1}{16\lambda^3(2k+j+(j-2))} \\ & \leq \frac{1}{16\lambda^3(2k+j+1)} \leq \frac{1}{16\lambda^3(k+k+j+1)} \leq \frac{1}{16\lambda^3(k+j+2)}. \end{aligned}$$

We have thus proved inequality (2.12).

Let us now estimate the third integral in the right-hand part of equality (2.6). Like in the case of the second integral of (2.6), we have

$$\begin{aligned} & \int_{k+1}^{+\infty} \frac{(1-2\lambda\rho+\rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho+\rho^2)^{\frac{k+1}{2}} (1+4\lambda\rho+4\rho^2)^{\frac{j}{2}}} d\rho \\ & \leq \int_{k+1}^{+\infty} \frac{(1-2\lambda\rho+\rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho+\rho^2)^{\frac{k+2}{2}} (1+4\lambda\rho+4\rho^2)^{\frac{j-1}{2}}} d\rho \tag{2.13} \\ & \leq \int_{k+1}^{+\infty} \left( \frac{\chi(\rho)(1-\chi(\rho))^k}{2\lambda\rho(1+\rho^2)(1+\chi(\rho))^{k+2}} \right)^{\frac{1}{2}} \frac{1}{(1+\rho^2)^{\frac{j-1}{2}}} \\ & \leq \frac{1}{2\sqrt{\lambda(k+1)}} \int_{k+1}^{+\infty} \frac{1}{\rho^{\frac{2j+1}{2}}} d\rho = \frac{1}{\sqrt{\lambda(2j-1)(k+1)}} \leq \frac{1}{\sqrt{\lambda(k+j)}}. \end{aligned}$$

With estimates (2.7), (2.11), (2.12) and (2.13) taken into account, equality (2.6) implies the estimate

$$\int_0^{+\infty} \frac{(1-2\lambda\rho+\rho^2)^{\frac{k}{2}}}{(1+2\lambda\rho+\rho^2)^{\frac{k+1}{2}}(1+4\lambda\rho+4\rho^2)^{\frac{j}{2}}} d\rho \leq \frac{c_2(\lambda)}{k+j}, \tag{2.14}$$

where

$$c_2(\lambda) = \left( \frac{1}{\lambda} + \frac{1}{\sqrt{\lambda}} + \frac{1}{\lambda\lambda_1} \right).$$

Taking (2.5) and (2.14) into account, from (2.4) we obtain integral (2.1). Lemma 2.1 is proved.

**Remark 2.2.** It is not difficult to observe that estimate (2.1) remains valid if the operator  $(I + \tau A)^{-1}$  is replaced by the operator  $\left(I + \frac{\tau}{2}A\right)^{-1}$ , i.e. the following estimate is fulfilled

$$\left\| \frac{\tau}{2}A \left(I - \frac{\tau}{2}A\right)^k \left(I + \frac{\tau}{2}A\right)^{-(k+j+1)} \right\| \leq \frac{c_1(\lambda)}{k+j}. \tag{2.15}$$

**Remark 2.3.** Using the Danford-Taylor integral, it is easy to prove the estimate

$$\|(\tau A)(I + \tau A)^{-k}\| \leq \frac{c}{k}, \quad c = const > 0.$$

**Theorem 2.4.** Assume that the operator  $A$  satisfies the conditions of Theorem 1.1. Then for the transition operator  $L = \left(I - \frac{\tau}{2}A\right)\left(I + \frac{\tau}{2}A\right)^{-1}$  of the Crank-Nicolson scheme the estimate

$$\|L^k\| \leq c \ln \frac{et_k}{\tau}, \quad k = 2, \dots, n, \tag{2.16}$$

is valid, where  $\tau = T/n$  and the constant  $c > 0$  does not depend on  $\tau$ .

**Proof.** It is obvious that

$$L + I = 2S_0, \quad L - I = -\tau AS_0.$$

From these equalities it follows that

$$L^2 = -2\tau AS_0^2 + I. \tag{2.17}$$

Multiplying both parts of equality (2.17) by  $L^2$ , we obtain

$$L^4 = -2\tau AS_0^2 L^2 + L^2 = -2\tau AS_0^2 L^2 + (-2\tau AS_0^2 + I) = -2\tau AS_0^2 (L^2 + I) + I.$$

Further, by induction, we have

$$L^{2m} = -2\tau AS_0^2 (L^{2m-2} + L^{2m-4} + \dots + I) + I. \quad (2.18)$$

Hence it follows that

$$L^{2m+1} = -2\tau AS_0^2 (L^{2m-1} + L^{2m-3} + \dots + L) + L. \quad (2.19)$$

If in equality (2.18) we take the norms, use estimate (2.15) and Remark 2.3, then we obtain

$$\begin{aligned} \|L^{2m}\| &\leq 2 \left( \|\tau AL^{2m-2}S_0^2\| + \|\tau AL^{2m-4}S_0^2\| + \dots + \|\tau AS_0^2\| \right) + 1 \\ &\leq c \left( \frac{1}{2m-1} + \frac{1}{2m-3} + \dots + \frac{1}{2} \right) + 1 \leq c \ln(2m) + 1. \end{aligned} \quad (2.20)$$

Analogously, from (2.19) we obtain

$$\|L^{2m+1}\| \leq c(\ln(2m+1) + 1). \quad (2.21)$$

(2.20) and (2.21) yield estimate (2.16).

**Lemma 2.5** ( see e.g. [16, ch. I]. *Let the operator  $A$  satisfy the conditions of Theorem 1.1. Then for any  $\tau > 0$  and natural  $k$  ( $k \leq n$ ,  $c = T/n$ ) we have the inequality*

$$\|(I + \tau A)^{-k}\| \leq c, \quad c = \text{const} > 0.$$

**Remark 2.6.** For any natural  $k$  the estimate

$$\|(L^k - S^k)u_0\| \leq c_1(\lambda)\tau \|Au_0\|, \quad u_0 \in D(A)$$

is valid, where

$$L = \left( I - \frac{\tau}{2}A \right) \left( I + \frac{\tau}{2}A \right)^{-1}, \quad S = (I + \tau A)^{-1}.$$

Indeed, by Lemma 2.1 the representation

$$\begin{aligned} L^k - S^k &= (L - S) \left( L^{k-1} + L^{k-2}S + \dots + LS^{k-2} + S^{k-1} \right) \\ &= -\frac{1}{2}\tau^2 A^2 S_0 S \left( L^{k-1} + L^{k-2}S + \dots + LS^{k-2} + S^{k-1} \right) \end{aligned}$$

implies the estimate

$$\begin{aligned} \|(L^k - S^k)u_0\| &\leq \tau \|Au_0\| \sum_{i=1}^k \left\| \frac{\tau}{2} AL^{k-i} S_0 S^i \right\| \\ &\leq \tau \|Au_0\| \sum_{i=1}^k \frac{c_1(\lambda)}{k} = c_1(\lambda)\tau \|Au_0\|. \end{aligned}$$

Here we have used the representation



$$\begin{aligned} L - S &= \left(I - \frac{\tau}{2}A\right)\left(I + \frac{\tau}{2}A\right)^{-1} - (I + \tau A)^{-1} \\ &= \left[\left(I - \frac{\tau}{2}A\right)(I + \tau A) - \left(I + \frac{\tau}{2}A\right)\right]\left(I + \frac{\tau}{2}A\right)^{-1} (I + \tau A)^{-1} \\ &= -\frac{1}{2}(\tau A)^2 \left(I + \frac{\tau}{2}A\right)^{-1} S. \end{aligned}$$

**Lemma 2.7.** For any  $\tau > 0$  and natural  $k$  ( $k \leq n$ ,  $\tau = T/n$ ), the following estimate is valid

$$\|SL^k\| \leq c, \quad c = \text{const} > 0. \tag{2.22}$$

**Proof.** By virtue of Lemma 2.5 and Remark 2.6 we have

$$\|L^k u\| = \|(L^k - S^k)u + S^k u\| \leq \|(L^k - S^k)u\| + \|S^k u\| \leq c\tau \|Au\| + \|S^k\| \|u\| \leq c(\tau \|Au\| + \|u\|).$$

Taking this inequality into account, we obtain

$$\begin{aligned} \|SL^k u\| &= \|L^k S u\| = \|L^k (I + \tau A)^{-1} u\| \leq c(\tau \|A(I + \tau A)^{-1} u\| + \|(I + \tau A)^{-1} u\|) \\ &\leq c(\|(\tau A)(I + \tau A)^{-1}\| \|u\| + \|(I + \tau A)^{-1}\| \|u\|) \leq c \|u\|. \end{aligned}$$

Clearly, this implies (2.22).

**Remark 2.8.** It is obvious that, analogously to (2.22), the estimate

$$\|S_0 L^k\| \leq c \tag{2.23}$$

is also valid.

### 3. Proof of the Basic Theorem

Let us proceed to proving the basic Theorem 1.1 (in what follows,  $c$  always denotes a positive constant).

Equation (1.1) at the point  $t = t_{k-\frac{1}{2}} = \left(k - \frac{1}{2}\right)\tau$  is written in the form

$$\frac{u(t_k) - u(t_{k-1})}{\tau} + A \frac{u(t_k) + u(t_{k-1})}{2} = f\left(t_{k-\frac{1}{2}}\right) + \frac{1}{\tau} \varphi_k^{(1)} + \frac{1}{2} A \varphi_k^{(2)}, \tag{3.1}$$

where

$$\begin{aligned} \varphi_k^{(1)} &= \int_{t_{k-\frac{1}{2}}}^{t_k} \int_{t_{k-\frac{1}{2}}}^t \left(u''(s) - u''\left(t_{k-\frac{1}{2}}\right)\right) ds dt + \int_{t_{k-1}}^{t_{k-\frac{1}{2}}} \int_t^{t_{k-\frac{1}{2}}} \left(u''\left(t_{k-\frac{1}{2}}\right) - u''(s)\right) ds dt, \\ \varphi_k^{(2)} &= \int_{t_{k-\frac{1}{2}}}^{t_k} \left(u'(t) - u'\left(t_{k-\frac{1}{2}}\right)\right) dt + \int_{t_{k-1}}^{t_{k-\frac{1}{2}}} \left(u'\left(t_{k-\frac{1}{2}}\right) - u'(t)\right) dt. \end{aligned}$$

From (1.3) and (3.1) we have

$$\frac{z_k - z_{k-1}}{\tau} + A \frac{z_k + z_{k-1}}{2} = \varphi_k, \quad (3.2)$$

where

$$z_k = u(t_k) - u_k, \quad \varphi_k = \frac{1}{\tau} \varphi_k^{(1)} + \frac{1}{2} A \varphi_k^{(2)} + \left( f \left( t_{k-\frac{1}{2}} \right) - f_{k-\frac{1}{2}} \right).$$

From (3.2) it follows that

$$z_k = L z_{k-1} + \tau S_0 \varphi_k, \quad (3.3)$$

where

$$L = \left( I - \frac{\tau}{2} A \right) \left( I + \frac{\tau}{2} A \right)^{-1}, \quad S_0 = \left( I + \frac{\tau}{2} A \right)^{-1}.$$

From the recurrent relation (3.3) we obtain

$$z_k = L^k z_0 + \tau S_0 \sum_{i=1}^k L^{k-i} \varphi_i. \quad (3.4)$$

It is obvious that for  $\varphi_i$  the following estimate is true

$$\|\varphi_i\| \leq c\tau^2 + \left\| f \left( t_{i-\frac{1}{2}} \right) - f_{i-\frac{1}{2}} \right\|. \quad (3.5)$$

From (3.4), taking into account (2.23) and also estimates (2.16) and (3.5), we obtain

$$\begin{aligned} \|z_k\| &\leq \|L^k\| \|z_0\| + \tau \sum_{i=1}^k \|S_0 L^{k-i}\| \|\varphi_i\| \\ &\leq c \ln \frac{e t_k}{\tau} \|z_0\| + c\tau^2 t_k + c t_k \max_{1 \leq i \leq k} \left\| f \left( t_{i-\frac{1}{2}} \right) - f_{i-\frac{1}{2}} \right\| \end{aligned}$$

This completes the proof of Theorem 1.1.

**Acknowledgement:** The present work was supported by the Shota Rustaveli National Science Foundation within the framework of the project D-13/18.

მათემატიკა

## ბანახის სივრცეში ევოლუციური განტოლებისათვის კრანკ-ნიკოლსონის ნახევრადდისკრეტული სქემის კრებადობის შესახებ

ჯ. როგავა\*, დ. გულუა\*\*

\* ი. ჯავახიშვილის სახ. თბილისის სახელმწიფო უნივერსიტეტი, ი. ვეკუას სახ. გამოყენებითი მათემატიკის ინსტიტუტი

\*\* საქართველოს ტექნიკური უნივერსიტეტი, გამოთვლითი მათემატიკის დეპარტამენტი

(წარმოდგენილია აკადემიის წევრის ე. ნადარაიას მიერ)

ბანახის სივრცეში განხილულია კომის ამოცანა ევოლუციური განტოლებისთვის წრფივი, შემოუსაზღვრელი, ჩაკეტილი  $A$  ოპერატორით. ამ ამოცანის მიახლოებით ამონახსნს ვპოულობთ კრანკ-ნიკოლსონის ნახევრადდისკრეტული სქემის საშუალებით. მტკიცდება, რომ თუ შესრულებულია შემდეგი პირობები: ა)  $A$  ოპერატორის სპექტრი შედის მარჯვენა ნახევარსბრტყეში მოთავსებულ სიმეტრიულ სექტორში, რომლის გაშლის კუთხე ნაკლებია  $\pi$ -ზე; ბ) ნებისმიერი  $z$ -თვის ( $z \neq 0$ ), რომელიც არ ეკუთვნის ამ სექტორს,  $A$  ოპერატორის რეზოლვენტა არ აღემატება  $c/|z|$ ; გ) საწყისი ამოცანის ამონახსნს გააჩნია მეორე რიგის უწყვეტი წარმოებული, რომელიც აკმაყოფილებს ლიფშიცის პირობას. მაშინ მიახლოებით ამონახსნის ცდომილება არ აღემატება  $c(\varepsilon_0 \ln \tau^{-1} + \varepsilon_1 + \tau^2)$ , სადაც  $\tau$  არის ბადის ბიჯი,  $\varepsilon_0$  და  $\varepsilon_1$  შესაბამისად წარმოდგენენ საწყისი ვექტორისა და განტოლების მარჯვენა მხარის შემფოთებებს.

## REFERENCES

1. *S.K. Godunov, V.S. Ryaben'kii* (1973), *Raznostnye skhemy*. M., 400 p. (in Russian).
2. *G.I. Marchuk* (1977), *Metody vychislitel'noi matematiki*. M., 456 p. (in Russian).
3. *R. Richtmayer, K. Morton* (1972), *Raznostnye metody resheniia kraevykh zadach*. M., 418 p. (in Russian).
4. *A.A. Samarskii* (1977), *Teoriia raznostnykh skhem*. M., 656 p. (in Russian).
5. *N.N. Ianenko* (1967), *Metod drobnykh shagov resheniia mnogomernykh zadach matematicheskoi fiziki*. Novosibirsk, 196 p. (in Russian).
6. *H.A. Alibekov, P.E. Sobolevskii* (1977), *DAN SSSR*, **232**, 4: 737-740.
7. *A.E. Polichka, P.E. Sobolevskii* (1976), *Differents. Uravneniia*, **12**, 19: 1693-1704 (in Russian).
8. *M. Crouzeix* (1980), *Numer. Math.* **35** No. 3, 257-276.
9. *M. Crouzeix and P.-A. Raviart* (1976), *C. R. Acad. Sci. Paris Sér. A-B*, **28**, 6, Aiv, A367-A370.
10. *M.-N. Le Roux* (1979), *Math. Comp.* **33** No. 147, 919-931.
11. *J.L. Rogava* (1995), *Poludiskretnye skhemy dlia operatornykh differentsial'nykh uravnenii*. Tbilisi, 288 p. (in Russian).
12. *S. I. Serdiukova* (1966), *Zh. Vychislitel'noi Matematiki i Matematicheskoi Fiziki*, **6**, 13: 477-486 (in Russian).
13. *P. E. Sobolevskii* (1973), *Variatsionno-Raznostnye Metody v Mat. Fizike*, 146-151 (in Russian).
14. *J. Rogava and R. Galdava* (1998), *Proc. I. Vekua Inst. Appl. Mat.*, **48**: 129-159.
15. *N. Danford, J. Shvartz* (1962), *Lineinye Operatory*. Ch. I., M., 896 p. (in Russian).
16. *J. Rogava and M. Tsiklauri* (2006), *Lecture Notes of TICMI*, **7**, 164 p.

*Received April, 2013*